Name:_______________________________________________________________ 



Class:_________________

Learning Target: I can add and subtract mixed numbers.

(1) In order to add or subtract mixed numbers you must first rewrite the equation using ____________________________ fractions.

· You can change a mixed number to an improper fraction by multiplying the _______________________________ by the _____________________________________, then __________________________________ the numerator to the product.  This answer is the numerator.  The denominator remains the same.

(2) Rewrite the equation with the improper fractions.

(3) In order to add and subtract fractions you must have a _____________________________________
· To find a common denominator you must find the least common multiple of the two denominators.

· Then, create two equivalent fractions that have the common denominator.  
· In order to change the fraction you multiply the top number, the numerator, and the bottom number, the denominator, by the same number.

(4) Rewrite your equation with your equivalent fractions. 

(5) Add OR subtract the _________________________________, keep the denominator the same

(6) If your answer is an ____________________________________________ you must change the improper fraction back to a mixed number.
(7) ________________________________ if possible by dividing the numerator and the denominator by their greatest common factor; IF the GCF of the numerator and denominator is 1, then the fraction is already in simplest form

 (1) What is the sum of 2 1/4 and 1 1/6?

Change the mixed numbers to improper fractions:

2 1/4 = 4 x 2 + 1/4 = 9/4
1 1/6 = 6 x 1 + 1/6 = 7/6
Rewrite the equation with improper fractions:

9/4 + 7/6 =

Find the multiples:
4: 4, 8, 12, 16, 20, 24
6: 6, 12, 18, 24

Change the fractions:

9/4 x 3/3 = 27/12

7/6 x 2/2 = 14/12

Rewrite the equation:

27/12 + 14/12 = 41/12

Change the improper to a mixed number:

41/12 = 3 5/12
Check if the fraction is in simplest form:

The GCF of 5 and 12 is 1, so the fraction is already in simplest form
3 5/12
Ms. Richards has 2 1/6 feet of ribbon.  Ms. Pratt has 1 2/3 feet of ribbon.  How much more ribbon does Ms. Richards have compared to Ms. Pratt?

Change the mixed numbers to improper fractions:

2 1/6  = 6 x 2 + 1/6 = 13/6

1 2/3 = 3 x 1 + 2/3 = 5/3
Rewrite the equation with improper fractions:

13/6 - 5/3=

Find the multiples:
6: 6, 12, 18, 24

3: 3, 6, 

Change the fractions:

13/6 already has the common denominator
5/3 x 2/2 = 10/6

Rewrite the equation:

13/6 + 10/6 = 3/6

Check if the fraction is in simplest form:

The GCF of 3 and 6 is 3, so divide the top and the bottom by 3

3/6 = 1/2
1/2 feet
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Class:_________________

Learning Target: I can add and subtract mixed numbers.

(1) In order to add or subtract mixed numbers you must first rewrite the equation using improper fractions.

· You can change a mixed number to an improper fraction by multiplying the denominator by the whole number, then adding the numerator to the product.  This answer is the numerator.  The denominator remains the same.

(2) Rewrite the equation with the improper fractions.

(3) In order to add and subtract fractions you must have a common denominator
· To find a common denominator you must find the least common multiple of the two denominators.

· Then, create two equivalent fractions that have the common denominator.  
· In order to change the fraction you multiply the top number, the numerator, and the bottom number, the denominator, by the same number.

(4) Rewrite your equation with your equivalent fractions. 

(5) Add OR subtract the numerators, keep the denominator the same

(6) If your answer is an improper fraction you must change the improper fraction back to a mixed number.
(7) Simplify if possible by dividing the numerator and the denominator by their greatest common factor; IF the GCF of the numerator and denominator is 1, then the fraction is already in simplest form

 (1) What is the sum of 2 1/4 and 1 1/6?

Change the mixed numbers to improper fractions:

2 1/4 = 4 x 2 + 1/4 = 9/4
1 1/6 = 6 x 1 + 1/6 = 7/6
Rewrite the equation with improper fractions:

9/4 + 7/6 =

Find the multiples:
4: 4, 8, 12, 16, 20, 24
6: 6, 12, 18, 24

Change the fractions:

9/4 x 3/3 = 27/12

7/6 x 2/2 = 14/12

Rewrite the equation:

27/12 + 14/12 = 41/12

Change the improper to a mixed number:

41/12 = 3 5/12
Check if the fraction is in simplest form:

The GCF of 5 and 12 is 1, so the fraction is already in simplest form
3 5/12
Ms. Richards has 2 1/6 feet of ribbon.  Ms. Pratt has 1 2/3 feet of ribbon.  How much more ribbon does Ms. Richards have compared to Ms. Pratt?

Change the mixed numbers to improper fractions:

2 1/6  = 6 x 2 + 1/6 = 13/6

1 2/3 = 3 x 1 + 2/3 = 5/3
Rewrite the equation with improper fractions:

13/6 - 5/3=

Find the multiples:
6: 6, 12, 18, 24

3: 3, 6, 

Change the fractions:

13/6 already has the common denominator
5/3 x 2/2 = 10/6

Rewrite the equation:

13/6 + 10/6 = 3/6

Check if the fraction is in simplest form:

The GCF of 3 and 6 is 3, so divide the top and the bottom by 3

3/6 = 1/2
1/2 feet
